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NCETM: KS3 Multi plicati ve Reasoning Project

Slides for LESSONS 3c and 3d (including the Pre-task)
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Lesson 3c, Pre-task:  Dividing a rod

The drawing shows  
a 100 cm long rod.

Mark-off the rod to show

100 ÷ 25
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Lesson 3c, Pre-task:  Dividing a rod

The drawing shows  
a 100 cm long rod.

Mark-off the rod to show

100 ÷ 25
Mark-off the rod in a  
different way to show

100 ÷ 25
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Lesson 3c, Pre-task:  Dividing a rod

The drawing shows  
a 100 cm long rod.

Mark-off the rod to show

100 ÷ 2.5
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Lesson 3c, Pre-task:  Dividing a rod

The drawing shows  
a 100 cm long rod.

Mark-off the rod to show

100 ÷ 2.5
Mark-off the rod in a  
different way to show

100 ÷ 2.5
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Lesson 3c, Pre-task:  Dividing a rod

The drawing shows  
a 100 cm long rod.

Mark-off the rod to show

100 ÷ 0.25
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Lesson 3c, Pre-task:  Dividing a rod

The drawing shows  
a 100 cm long rod.

Mark-off the rod to show

100 ÷ 0.25
Mark-off the rod in a  
different way to show

100 ÷ 0.25
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Lesson 3c, Stage 1

1		 Jake has some broken Farley’s rusks.
	 	 He gives his baby sister a 3.4 g portion.

	 	 How much of a rusk is this, 
	 	 if a single rusk weighs 16.7 g?
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Lesson 3c, Stage 1

1		 Jake has some broken Farley’s rusks.
	 	 He gives his baby sister a 3.4 g portion.

	 	 How much of a rusk is this, 
	 	 if a single rusk weighs 16.7 g?

b ii.	 Jake has some broken Farley’s rusks.
	 	 His brother grabs a 54 g portion.

	 	 How many rusks is this, 
	 	 if a single rusk weighs 16.7 g?
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Lesson 3c, Stage 1

1		 b ii. Jake has some broken Farley’s rusks.
	 	 His brother grabs a 54 g portion.

	 	 How many rusks is this, 
	 	 if a single rusk weighs 16.7 g?

0 16.7 g 54 g

A0 1 rusk

3.4 g

B
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Lesson 3c, Stage 1

1		 b ii. Jake has some broken Farley’s rusks.
	 	 His brother grabs a 54 g portion.

	 	 How many rusks is this, 
	 	 if a single rusk weighs 16.7 g?

0 16.7 g 54 g

A0 1 rusk

3.4 g

B

	 	 Jake has some broken Farley’s rusks.
	 	 He gives his baby sister a 3.4 g portion.

	 	 How much of a rusk is this, 
	 	 if a single rusk weighs 16.7 g?
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Lesson 3c, Stage 1

1		 b ii. Jake has some broken Farley’s rusks.
	 	 His brother grabs a 54 g portion.

	 	 How many rusks is this, 
	 	 if a single rusk weighs 16.7 g?

5416.7

?1

A 3.416.7

?1

B
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Lesson 3c, Stage 1

1		 b ii. Jake has some broken Farley’s rusks.
	 	 His brother grabs a 54 g portion.

	 	 How many rusks is this, 
	 	 if a single rusk weighs 16.7 g?

	 	 Jake has some broken Farley’s rusks.
	 	 He gives his baby sister a 3.4 g portion.

	 	 How much of a rusk is this, 
	 	 if a single rusk weighs 16.7 g?

5416.7

?1

A 3.416.7

?1

B
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Lesson 3c, Stage 1

1		 b ii. Jake has some broken Farley’s rusks.
	 	 His brother grabs a 54 g portion.

	 	 How many rusks is this, 
	 	 if a single rusk weighs 16.7 g?

	 	 Jake has some broken Farley’s rusks.
	 	 He gives his baby sister a 3.4 g portion.

	 	 How much of a rusk is this, 
	 	 if a single rusk weighs 16.7 g?

5416.7

?1

A 3.416.7

?1

B

0 16.7 g 54 g

A0 1 rusk

3.4 g

B
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Lesson 3c, Stage 2

2		 Heidi buys a large catering pack of muesli 
	 	 which she pours into storage tubs to keep fresh.

	 	 The muesli weighs 3.4 kg and fills 16.7 tubs.
	 	 How much muesli does a full tub hold?
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Lesson 3c, Stage 2

2		 Heidi buys a large catering pack of muesli 
	 	 which she pours into storage tubs to keep fresh.

	 	 The muesli weighs 3.4 kg and fills 16.7 tubs.
	 	 How much muesli does a full tub hold?

0 16.7 tubs

3.4 kg

1 tub

?0
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Lesson 3c, Stage 2

2		 Heidi buys a large catering pack of muesli 
	 	 which she pours into storage tubs to keep fresh.

	 	 The muesli weighs 3.4 kg and fills 16.7 tubs.
	 	 How much muesli does a full tub hold?

16.71

3.4?
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Lesson 3c, Stage 2

2		 Heidi buys a large catering pack of muesli 
	 	 which she pours into storage tubs to keep fresh.

	 	 The muesli weighs 3.4 kg and fills 16.7 tubs.
	 	 How much muesli does a full tub hold?

0 16.7 tubs

3.4 kg

1 tub

?0

16.71

3.4?
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Lesson 3d, Stage 1

3 × 8
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Lesson 3d, Stage 1

1		 Mike has found 8 conkers.
	 	 Julia has found 3 times as many.

	 	 How many conkers has Julia found? 3 × 8
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Lesson 3d, Stage 1

1		 Mike has found 8 conkers.
	 	 Julia has found 3 times as many.

	 	 How many conkers has Julia found? 3 × 8
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Lesson 3d, Stage 1

1		 Mike has found 8 conkers.
	 	 Julia has found 3 times as many.
	 	 How many conkers has Julia found?

	 	 3.2 × 8    3.2 × 8.6    3 × 0.8    0.32 × 0.86
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Lesson 3d, Stage 2

2	 5 ×8
1
4
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Lesson 3d, Stage 2

2	
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Lesson 3d, Stage 2
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Lesson 3d, Stage 2

3	 5 ÷8
1
4
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Lesson 3d, Stage 2

3	
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Lesson 3d, Stage 2
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